
Name: LösungsschlüsselUmrechnen von metrischen Entfernungen

Mathe www.CommonCoreSheets.de
1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Antworten

1. 92

2. 86

3. 49

4. 6

5. 3,4

6. 3,3

7. 0.074

8. 0.005

9. 0.98

10. 0.97

11. 67

12. 15

13. 34

14. 7

15. 0.23

16. 66

17. 0.85

18. 82

19. 46

20. 96

Bestimmen Sie, welche Zahl jede Conversion wahr macht.

1) 0.092 kilometers =      92      meters

2) 8,6 zentimeters =      86      millimeters

3) 4,9 zentimeters =      49      millimeters

4) 0,6 zentimeters =      6       millimeters

5) 34 millimeters =     3,4      zentimeters

6) 33 millimeters =     3,3      zentimeters

7) 74 meters =    0.074     kilometers

8) 5 meters =    0.005     kilometers

9) 98 zentimeters =     0.98     meters

10) 97 zentimeters =     0.97     meters

11) 6,7 zentimeters =      67      millimeters

12) 0.015 kilometers =      15      meters

13) 0.034 kilometers =      34      meters

14) 0.07 meters =      7       zentimeters

15) 23 zentimeters =     0.23     meters

16) 0.66 meters =      66      zentimeters

17) 85 zentimeters =     0.85     meters

18) 0.082 kilometers =      82      meters

19) 4,6 zentimeters =      46      millimeters

20) 0.96 meters =      96      zentimeters
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